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MODEL QUESTION PAPER - 2020 

n'ke oxZ n'ke oxZ n'ke oxZ n'ke oxZ (Class X) 

xf.kr xf.kr xf.kr xf.kr (Mathematics) 

         
dqy Á’uksa dh la[;k %dqy Á’uksa dh la[;k %dqy Á’uksa dh la[;k %dqy Á’uksa dh la[;k %    
Total No. of Questions : 

 

le; % 3 ?kaVsle; % 3 ?kaVsle; % 3 ?kaVsle; % 3 ?kaVs    
Time : 3 Hours 

lkekU; funsZ’klkekU; funsZ’klkekU; funsZ’klkekU; funsZ’k    
General Instructions 

Set- I dh rjg dh rjg dh rjg dh rjg (Similar to set - I) 

 
[k.M &[k.M &[k.M &[k.M &    A 

¼Á’u la[;k 1 ls 10 rd ÁR;sd 1 vad dk gS½¼Á’u la[;k 1 ls 10 rd ÁR;sd 1 vad dk gS½¼Á’u la[;k 1 ls 10 rd ÁR;sd 1 vad dk gS½¼Á’u la[;k 1 ls 10 rd ÁR;sd 1 vad dk gS½    
Section – A 

(Question Nos. 1 to 10 carry 1 marks each) 
Q. 1. ifjes; la[;k 35

50
 ds n’keyo Álkj lkar gS ;k vlkar vkorhZA 

  
Rational number 

35

50
 will have a terminating decimal or non-terminating repeating. 

Q. 2. fdlh cgqin p(x) ds fy, y = p(x) dk xzkQ uhps vkd`fr esa fn;k x;k gSA cgqin p(x) ds 

‘kwU;dksa dh la[;k fyf[k,A 

  The graph of y = p(x) for polynomial p(x) is given in the figure below. Write the 

number of zero of the polynomial p(x). 

                                    Y 

 

           X1              o                    X 

                     

                   Y1 

Á’u 3. tk¡p dhft, fd fuEu  lehdj.k f}?kkr gS ;k ughaA 

 x(x+1) + 8 = ( x + 2) (x – 2) 
Q. 3. Check whether the following equation is a quadratic equation or not. 

 x(x+1) + 8 = ( x + 2) (x – 2) 

Á’u 4. eku fudkfy, (Evaluate) :   cos48
0   

- Sin42
0
                                           

Á’u 5. lekarj Js.kh 3, 1, -1, -3,…………. ds fy, ÁFke in rFkk lkoZ varj fyf[k,A 

Q. 5. For the A.P   3, 1, -1, -3,…………. write the first term and common difference. 
Á’u 6. ‘d’ O;kl okys v/kZo`Ùk dk {ks=Qy fyf[k,A 

Q. 6. Write the area of a semi circle of diameter ‘d’. 

Á’u 7. crkb, fd vkd`fr esa fn, f=Hkqtksa ds ;qXe le#i gSa ;k ughaA ;fn gSa rks le#irk dh 

Class – X
th

  

Model – Maths 

Set - I 

30 



dlkSVh fyf[k,A 

Q. 7. State whether the pair of triangles in the given figure is similar or not. If yes then 

write the similarity criteria. 

 

 

 

 

 

Á’u 8. ,d o`Ùk dh fdruh lekarj Li’kZ js[kk,¡ gks ldrh gS\ 

Q. 8. How many parallel tangents are possible for a circle? 

Á’u 9. ,d fpr ÁkIr djus dh Áf;drk Kkr dhft, tc ,d flDds dks ,d ckj mNkyk tkrk gSA 

Q. 9. Find the probability of getting a head when a coin is tossed once. 

Á’u 10. oxZ vUrjky dh fuEu lhekvksa ,oa lap;h ckjackjrk ds chp [khaps x;s vkys[k dks fdl Ádkj 

dk rksj.k dgrs gSa \ 

Q. 10. What type of ogive do we call to a graph which has been drawn between lower 

limits of class interval and cumulative frequency ? 

  [k.M & [k.M & [k.M & [k.M & B  

Section – B 

¼Á’u la[;k 11 ls 15 rd ÁR;sd 2 vad¼Á’u la[;k 11 ls 15 rd ÁR;sd 2 vad¼Á’u la[;k 11 ls 15 rd ÁR;sd 2 vad¼Á’u la[;k 11 ls 15 rd ÁR;sd 2 vadksa dk gS½ksa dk gS½ksa dk gS½ksa dk gS½    
 (Question Nos. 11 to 15 carry 2 marks each) 

 

Q. 11. vHkkT; xq.ku[k.M fof/k }kjk 26 vkSj 91 dk L.C.M. Kkr dhft,A 
  Find the L.C.M. of 26 and 91 by the prime factorisation metnod. 

Q. 12. cgqin p(x)  dks g(x)  ls Hkkx Kkr dhft, rFkk HkkxQy ,oa ‘ks”kQy fyf[k,A 

p(x) = x
4
-5x+6, g(x) = 2-x

2 
  Divide the polynomial p(x) by g(x) and find the quotient and remainder. 

p(x) = x
4
-5x+6, g(x) = 2-x

2
 

Q. 13. eku yhft, / /ABC DEF∆ ∆ gS vkSj muds {ks=Qy Øe’k% 64 lseh2 rFkk 121 lseh2 gSA 

;fn BC = 11.2 lseh0 gS] rks EF Kkr dhft,A 

  Let / /ABC DEF∆ ∆ and their areas are 64cm
2
 and 121cm

2
 respectively. If BC = 

11.2 cm, find EF.   

Q. 14. ;fn 15 Cot A = 8 rks Sin A vkSj Sec A dk eku Kkr dhft,A 

  If 15 Cot A = 8, than find the values of Sin A and Sec A. 

Q. 15. fl) dhft, fd nks ldsUnzh; o`Ùkksa esa cMs+ oÙ̀k dh thok tks NksVs o`Ùkksa dks Li’kZ djrh gSA 

Li’kZ fcUnq ij lef}Hkkftr gksrh gSA 



  Prove that in two concentric circles, the chord of the larger circle, which touches the 

small circle is bisected at the point of contanct. 

  [k.M & [k.M & [k.M & [k.M & C  

Section – C 

¼Á’u la[;k 16 ls 25 rd ÁR;sd 3 vadksa dk gS½¼Á’u la[;k 16 ls 25 rd ÁR;sd 3 vadksa dk gS½¼Á’u la[;k 16 ls 25 rd ÁR;sd 3 vadksa dk gS½¼Á’u la[;k 16 ls 25 rd ÁR;sd 3 vadksa dk gS½    
(Question Nos. 16 to 25 carry 3 marks each) 

Q. 16. 4052 vkSj 12576 dk HCF ;wfdYM foHkktu ,YxksfjFe dk Á;ksx dj Kkr dhft,A 

  Use Euclids division algorithm to find the HCF of 4052 and 12576. 

  vFkok @vFkok @vFkok @vFkok @ OR 

  fl) dhft, fd 3 2 5+  ,d vifjes; la[;k gSA 
  Prove that 3 2 5+  is irrational. 

 

 

Q. 17. gy dhft, (Solve) :      

4
3 14

3
4 23

y
x

y
x

+ =

− =

 

 

Q. 18. xzkQh; fof/k ls gy dhft, (Solve graphically) 

2 2

4 4

y x

y x

= −

= −
 

Q. 19. ;fn fdlh A P⋅ dk nok¡ in 3+2n gS rks ÁFke in] lkoZvarj rFkk ÁFke 24 inksa dk ;ksx 
Kkr dhft,A  

Q. 19. If the nth term of an A.P is 3 + 2n, then find the first term, common difference and 

sum of the first 24 terms.  
Q. 20. fl) dhft, fd (Prove that) 

tan cot
1 sec .cos

1 cot 1 tan
ec

θ θ
θ θ

θ θ
+ = +

− −
 

Q. 21. fcUnq ;qXeksa A (a, b) vkSj B (-a, -b) ds chp dh nwjh Kkr dhft,A 

  Find the distance between the points A (a, b) and B (-a, -b). 

Q. 22. ml fcUnq ds funsZ’kkad Kkr dhft,] tks fcUnqvksa (-1, 7) vkSj (4, -3) dks feykus okys 

js[kk[kaM dks 2 % 3 ds vuqikr esa foHkkftr djrk gSA 

  Find the co-ordinates of the point which divides the join of (-1, 7) and (4, -3) in the 

ratio 2:3 

  vFkok @vFkok @vFkok @vFkok @ OR 

  ml f=Hkqt dk {ks=Qy Kkr dhft, ftlds ‘kh”kZ gSa % (-5, 1), (3, -5) vkSj (5, 2) 
  Find the area of the triangle whose vertices are:  (-5, 1), (3, -5) and (5, 2). 

Q. 23. 5 lseh0] 6 lseh0 vkSj 7 lseh0 Hkqtkvksa okys ,d f=Hkqt dh jpuk dhft, vkSj fQj ,d vU; 

f=Hkqt dh jpuk dhft,] ftldh Hkqtk,¡ fn;s x, f=Hkqt dh laxr Hkqtkvksa dh 7

5
 xquh gksA 

  
Construct a triangle with sides 5cm, 6cm and 7cm and then another triangle whose 



sides are 
7

5
 of the corresponding sides of the first triangle. 

  vFkok @vFkok @vFkok @vFkok @ OR    

  3lsaeh0 f=T;k dk ,d oÙ̀k [khafp,A blds fdlh c<+k, x, O;kl ij dsUnz ls 7lsaehå nwjh ij 
fLFkr nks fcanqvksa P vkSj Q yhft,A bu nksuksa ls o`Ùk ij Li’kZ js[kk,¡ [khfp,A  

  Draw a circle of radius 3cm. Take  two points P and Q on one of its extended 

diameters each at a distence of 7cm from its centre. Draw tangents to the circle from 

these two points P and Q. 

Q. 24. gjÁhr nks fHké&fHké flDdksa dks ,d lkFk mNkyrh gSA bldh D;k Ákf;drk gS fd og de 

ls de ,d fpr ÁkIr djsxh\ 

  Harpreet tosses two different coins simultaneosly. What is the probability that she 

gets at least one head? 

  vFkok @vFkok @vFkok @vFkok @ OR 

  vPNh çdkj ls QsaVh xbZ 52 iÙkksa dh ,d xìh esa ls ,d iÙkk fudkyk tkrk gSA bldh 

çkf;drk ifjdfyr dhft, fd ;g iÙkk ¼i½ ,d bDdk gksxk ¼ii½ ,d bDdk ugha gksxkA 

  One card is drawn from a well- shuffled deck of 52 cards. Calculate the probabillity 

the card will (i) be an ace (ii) not be an ace  

Q. 25. f=T;k 15lsaehå okys o`Ùk dk ,d pki dsUnz ij 60
å
 dks dks.k varfjr djrk gSA pki dh 

yEckbZ ,oa pki }kjk cuk, x, f=T;k[k.M dk {ks=Qy Kkr dhft,A (π = 3.14) 

  In a circle of radius 15cm, arc subtends an angle of 60
å
 at the centre. Find the length 

of the arc and area of the sector formed by the arc (use π = 3.14)
 
 

  vFkok @vFkok @vFkok @vFkok @ OR 
  vkÑfr esa ,d OABC dsUnz O vkSj f=T;k 3-5 cm okys ,d o`Ùk dk prqFkkZ’k gSA ;fn OD 

= 2 cm gS rks Nk;kafdr Hkkx dk {ks=Qy Kkr dhft,A  

  In figure, OABC is a quadrant of a circle with centre O and radius 3.5 cm.  If OD = 

2cm, find the area of the shaded region. 

 

 

 

 

 

 

 

 

 



  [k.M & [k.M & [k.M & [k.M & D  

Section – D 

¼Á’u la[;k 26 ls 30 rd ÁR;sd 6 vadksa dk gS½¼Á’u la[;k 26 ls 30 rd ÁR;sd 6 vadksa dk gS½¼Á’u la[;k 26 ls 30 rd ÁR;sd 6 vadksa dk gS½¼Á’u la[;k 26 ls 30 rd ÁR;sd 6 vadksa dk gS½    
(Question Nos. 26 to 30 carry 6 marks each) 

Q. 26. f}?kkr lehdj.k 23 4 3 4 0x x− + =  dk fofoädj Kkr dhft, ,oa ewyksa dh ÁÑfr Kkr 

dhft,A ;fn ewyksa dk vfLrRo gks rks mUgsa Kkr dhft,A 

  Find discriminant and nature of roots of the quadratic equation 23 4 3 4 0x x− + = . 

If the real roots exist, then find them. 

  vFkok @vFkok @vFkok @vFkok @ OR 
  ,d jsyxkM+h ,dleku pky ls 360km dh nwjh r; djrh gSA ;fn pky 5km/h vf/kd 

gksrh] rks og mlh ;k=k esa ,d ?kaVk de le; ysrhA jsyxkM+h dh pky Kkr dhft,A 
  A train travels 360km at a uniform speed. If the speed had been 5km/h more, it 

would have taken 1 hour less for the same journey. Find the speed of the train. 

   

   

Q. 27. 1-5 ehVj yEck ,d yM+dk 30 ehVj m¡ps ,d Hkou ls dqN nwjh ij [kM+k gSA tc og m¡ps 

Hkou dh vksj tkrk gS rc mlh vk¡[k ls Hkou ds f’k[kj dk mé;.k dks.k 30å ls 60å gks 

tkrk gSA crkb, fd og Hkou dh vksj fdruh nwjh rd pydj x;k gSA 

  A 1.5m tall boy is standing at some distance from a 30m tall building. The angle of 

elevation from his eyes to the top of the building increases form 30
0
 to 60

0
 as he 

walks towards the building. Find the distance he walked towards the building. 

  vFkok@vFkok@vFkok@vFkok@ OR 
  ehukj ds ikn fcUnq ls ,d Hkou ds f’k[kj dk mé;.k dks.k 30å gS vkSj Hkou ds ikn fcUnq 

ls ehukj ds f’k[kj dk mé;.k dks.k 60å gSA ;fn ehukj 50 ehVj m¡ph gS rks Hkou dh m¡pkbZ 

Kkr dhft,A 

  The angle of elevation of the top of building from the foot of the tower is 30
0
 and 

the angle of the elevation of the top of the tower from the foot of the building 60
0
. If 

the tower is 50m high then find the height of the building. 

Q. 28. fl) dhft, fd ,d ledks.k f=Hkqt esa d.kZ dk oxZ ‘ks”k nks Hkqtkvksa ds oxksZa ds ;ksx ds 

cjkcj gksrk gSA 

  Prove that in a right triangle, the square of the hypotenuse is equal to the sum of the 

squares of the other two sides. 

Q. 29. O;kl 7cm okyk 20m xgjk ,d dqvk¡ [kksnk x;k gS vkSj [kksnus ls fudyh gqbZ feÍh dks 

leku #i ls QSykdj 22 14m m× okyk ,d pcwrjk cuk;k x;k gSA bl pcwrjs dh m¡pkbZ 

Kkr dhft,A 

  A 20cm deep well with diameter 7m is dug and the earth from digging is evenly 

spread out form a platform 22 14m m× . Find the height of the plateform. 



  vFkok@vFkok@vFkok@vFkok@ OR 
  ,d ‘kadq ds fNéd dh fr;Zd m¡pkbZ 4cm gS rFkk blds o`Ùkh; fljksa ds ifjeki 18cm vkSj 

6cm gSA bl fNéd dk oØi`”Bh; {ks=Qy Kkr dhft,A 

  The slant height of a frustum of a cone is 4cm and the perimeters (circumference) of 

its circular ends are 18cm and 6cm. Find the curved surface area of frustum. 

Q. 30. ;fn uhps fn, x, caVu dk ek/;d 28.5 gks rks x vkSj y dk eku Kkr dhft,A 

  If the median of the distribution gives below is 28.5, find the value of x and y. 

 

oxZ varjky 
Class Interval 

0 – 10 10 – 20 20 – 30 30 – 40 40 – 50 50 – 60 
;ksx 

Total  

ckjackjrk 
Frequency 

5 x 20 15 y 5 60 

 


